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à. 1) EHy$U {H$Vr én¶o hmoVrb Vo {bhm.       (2 JwU)

 1) 500 én¶m§À¶m 12 ZmoQ>m, 100 én¶m§À¶m 17  ZmoQ>m d 10 én¶m§À¶m 8 ZmoQ>m =   én¶o  

à. 2) g§»¶m dmMm d A§H$m§V {bhm.        (1 JwU)

 1) n§Yam bj ~mdrg hOma AmR>eo nmgîQ> =    

à. 3) Imbrb g§»¶m§Vrb AYmoao{IV A§H$m§Mr ñWm{ZH$ qH$‘V {bhm.    (2 JwU)

 1)  68, 95, 723 →   2)  72, 87, 932 →   

à. 4) Mm¡H$Q>rV ¶mo½¶ {MÝh {bhm. (< , > ¶mn¡H$s)      (2 JwU)

 1)  273438  273834  2) 87012  78012

à. 5) gmoS>dm. (àË¶oH$s 2 JwU)              (10 JwU)

 1)  13252 + 10928 + 2758 = ............   2) 125432 − 118728 = ....................

goVy Aä¶mg : J{UV - B¶ËVm ghmdr : nyd© MmMUr 

B¶ËVm : ghmdr EHy$U JwU : 
30

{dXçmÏ¶m©Mo  Zmd : ................................................................................ hOoar H«$.: ....................

emioMo Zmd : ......................................................................................... {XZm§H$ :  ......................
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 3)  934 × 276  = ....................  4)  2837 ÷ 13 = ....................   

 5)  EH$m dmhZmg Vmer 48 {H$‘r doJmZo 288 {H$‘r A§Va nma H$aÊ¶mgmR>r {H$Vr Vmg bmJVrb?

à. 6) Imbrb CXmhaUo gmoS>dm.        (2 JwU)

 1)  
1
2  + 

2
3  = ....................  2) 

3
4  − 

1
2   = ....................

à. 7) 100O ‘mnmMm ∠ABC H$mT>m. (2 JwU) à. 8)  O H|$Ð Agbobo 3 go‘r {ÌÁ¶oMo dVw©i H$mTy>Z 
Ë¶mV ì¶mg AB d Ordm PQ XmIdm. 

(2 JwU)
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à. 9) nwT>rb g§»¶m§‘YyZ 18 Mo gd© {d^mOH$ AmoiIyZ Ë¶m§Zm  H$am.   (2 JwU)

 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 18

à. 10) ~oarO H$am.          (2 JwU)

 gmS>o ~mam {H$J«° Am{U gìdm AmR> {H$J«°

à. 11) AmB©Zo eQ>©gmR>r 2 ‘rQ>a 40 go‘r d n±Q>gmR>r 1 ‘rQ>a 60 go‘r H$mnS> AmUbo, Va AmB©Zo EHy$U 

{H$Vr ‘rQ>a H$mnS> AmUbo?        (1 JwU)

à. 12) {ZarjU H$ê$Z [aH$må¶m Mm¡H$Q>tV {Xboë¶m XmoZ CXmhaUm§nojm doJio CXmhaU {bhm. (2 JwU)

16

10 + 6

4 × 4


